AN S 79 AL ZXH| YW
(20161 8% 12 ~ 2016 8¥ 3
Sk SRR e Ziol 2o (el| cfabolel(d) | ZXj e

2016-08-12 (o] S Il ZHA|X}ofo| ZHEFS| 71| 157,000 6 IS
2016-08-12 |o|S 9! A X}ofo| ZHEFS| 74| 225,000 15 =
2016-08-16 |o|Q Gl T AH X}t ZHELS| 2% 109,000 4 1=
2016-08-17 [S. 27| ZHCHTLA| Ef-22 O|ZNTO| ZHEFS| 7H | 692,000 24 =
2016-08-22 0|2 9l T AH X}t ZHELS| 2% 165,000 6 1=
ofzt 2016-08-23 |22 3lCist 3|9 Q! RlSHE FpAH X QI 7po| ZHEFS| JH | 426,000 24 =
2016-08-24 0|9l A A XIQO| ZHErS| TH A 53,000 3 1=
2016-08-26 o] Il A X}ofo| ZHEFS| 7% 450,000 15 =
2016-08-29 |o|Q Gl T AH X}t ZHELS| 2% 325,000 11 1=
2016-08-30 |o| S I A X}ofo| ZHEFS| 74| 127,000 5 H1=
2016-08-30 oI5| AR = A Z=0| M2 oF Folg K& 50,000 1 k=

E | 2,779,000
2016-08-12 o] G! A X}oto| ZHEFS| 71| 182,000 7 1=
2016-08-17 o] 9! A X}eto| ZHEFS| 1| 93,000 5 =
2016-08-18 o] 9! A X}oto| ZHEFS| 71| 153,000 7 1=
2016-08-22 0|9 Il ZHAH|X}ofo| ZHEFS| 7% 240,000 8 =
2016-08-22 o] 9! A X}oto| ZHEFS| A 73,000 3 1=
so)xt 2016-08-23 0|9 Il ZHAH|X}ofo| ZHEFS| 7% 104,100 6 =
2016-08-23 o] 9! A X}oto| ZHEFS| 71| 51,000 3 1=
2016-08-25 |o|AE 10| ZHEFS| T 45,000 3 =
2016-08-25 |0 9! A XFoto| ZHEFS| 71| 50,000 3 1=
2016-08-29 |o|S Il A X}ofo| ZHEFS| 7% 74,500 4 FIE
2016-08-31 o] G! ZHA|X}oto| ZHEFS| 7| 150,000 5 1=

A A 1,215,600
ojs|e9 2016-08-29 |o| A= 1to| ZFEFS| 71| 136,500 5 1=
ojolxt 2016-08-31 |o|Q 9l A XFeFO| ZHELS| 7% 136,000 5 e

| 272,500
2016-08-17 2|9 9l A X}t ZHELS| 7% 48,000 5 e
2016-08-18 o] I! A XFoto| ZHEFS| 71| 121,000 5 1=
SRR 2016-08-22 2|9 9l A XFetO| ZHELS| 7% 60,500 7 e
ololxt 2016-08-26 || A= 1to| ZFEFS| 71| 68,000 5 1=
=S 12016-08-29 |o| = to| 7HEFE| 74| 97,000 5 e
2016-08-31 o] I! A X}oto| ZHEFS| 71| 129,000 7 1=

A A 523,500
2016-08-02 |o| = 1to| ZHEFS| 7% 53,000 6 1=
FOIM% | 2016-08-11 (oY Gl A XFRFO| ZHEFS| 7% 145,000 5 e
QI | 2016-08-23 |o| Y Il kA Ktoto| ZHES| YA 340,000 12 1=

A A 538,000
2016-08-10 |o|Ql T R A X}QFO| ZHEFS| 2% 101,000 5 1=
2016-08-11 0|9l ! ZHAHXIQF| ZHELS| TH A 150,000 5 e
2016-08-11 |o|Ql 9 R AHX}QFO| ZHEFS| )% 250,000 9 1=
2016-08-19 |o| = 1to| ZHEES| )% 165,000 6 e
T A|ZAA | 2016-08-23 (o] 5! A RIQto| ZHELS| 7| | 72,000 3 1=
O|QIEt | 2016-08-24 || 3! A Ktoto| ZHES| 7 A 105,000 6 e
2016-08-25 9| S0t ZHEt3| 7% 177,000 6 1=
2016-08-26 || A= 1}to| ZFEFS| T 30,000 3 e
2016-08-30 0|2 9l B A X}eto| ZHELS| 7% 88,500 3 1=

A A 1,138,500




